IKEVATEEB R (B

=FIGEF7H128 GARE T RV (EADSBLIEH, Ke)
B = EDE] [ EESErE]
8 & - = T B = TR
| o B s Rloe =26 " aE]o B & @&

SREO| & B | 179|131 1.206 354|166 | 2800 454
S0 | B B | 787 787 [ 1,404 500
225 | A & 40 40 | 1560 1,200
Ob0 | B & | 227| 593800 55 | _168]3.780 850
ety £ B 12 12 | 4450 1,000

B & | &k ® | 544| 275]2700 108|269 | 2:800 200
Fls]

= | &K B | 360| 2491728 TA70| 111 | 1,944 864
BrEC (R

SR

520 & B 8 > 950 6 [ 14000 8000
¥ 5| & & 10 10 [ 3500 3,200
) Ic | tiBsg 5 5 | 75600 26,000
BE<O| T = 5 55 [ 1.700 1,100
BbeD | = B 59 59 [ 1620 1,000
LLa | B R 40 40800 572
* 5|8 & S 93888 1012
X B

h = m B 20 20| 794 648
A 72 72 [2.160 1,300
S| B N 10 10 4900
WbU|E B 39 39| 684 648
N U | & B 152 52| 378 324
DO | 8 W 36 > 1,080 34 | 1,944 1,044
Aol | £ B 20 20 1,000

= H| A K| 150 150 500
=hz

Pok | B W | 282 582 972 508
FBHID

FALD | B B 36 813375 1080 28 1389
w50 | A 2 36 36 [ 1,180 1,080
F5oh| & B 17 17 4536 5,376
SEHoB

RYE))

Ehs| = B 74 74 | 2484 1188
<55<3 10 10 5616
WAL 89 89 [ 1,600 1,400
=nr 105 105 [ 2.200 1450
ABACTHD

YR

SN0 B D 5 8 1454
RtELU 7 4 6.750

% &
2 £ 1
s Dk
s & 0 18 18] 1652 1170

T 1. PEkmen 1 D0kEs

6,931




KEMALIEEHZR (H0T)
Li6FrA68 tre wAmE 13 kY
AN T Lod 1
DAY T gTHIC T
WHUETF 1 X DS 7l
BED T (8 0 D I
Z _Olg @ 10w 3,300 i 1]
WoLxF| W O S |u 2,160 IZFEOE 1
SzoxF|= | 23 [1][1.512 1,296 | [BEhac 0
EngF|zx Bl 10 |u 2,720 BET 1
ZAZHTF T FEBLD 1]
FUDDL T BT 1
FLHNLY 1 wRresr| Ah F 89 111976 1,100
RIET BH T BHIET 1
DEBC| X B[ 411 [1]2,231 540 | [BEB0F 7]
5 < DA R[1.217 [1][1.525 467 | |mtsoz T
EE RN 1 BSAFE 1
sronn| R B 48 1[n 1,584 EEXI] T
T=9 T (E=E[# M| 214 [1/[1.419 688
FiIzRiE T pRFIW O 10 |11 2840
EEEAE I I I
mEsC| A 7| 3012320 1450 | W< B T
EENET T BRICUA /]
SrIHT T BT b 1
A ) cy 1
srsona HREF!] 984 |1 980 <M 9,000 [ I
= & 13497 |ke




